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1. (a) Compounding and discounting are the techniques
that are used for adjusting 'time value of money'.
Explain.

qcd-dr d{ qET 'q:r + Hrqf{s qF' d,
wrdfq-d +.r+ qt nfqls I r scflr{S I s

(b) Wealth Maximisation is superior to Profit Maximi-
sation as an objective of Financial Management.
Comment.

ffiq mis-{ + st{c * sc t q-q erftr*-ctrirur,

ilq qfirtr(tr+rur i *€-dr t r Aqon dfrq r ro
Or (3nrqD

(a) A company has Rs. 5,00,000 67o debentues
outstanding. Debentures will be redeemed after 5
yean. How much annual equal amount should be
invested in a fund that pays interest at 1070

p.a., so that required amount is available after 5
years?

qs *Tfr * qrq s,oo,ooo to * 6vo fs+qI
+qrqr t't E+q{ ql cfs q{ qE Trrdn fr'n r qq
rde, * roz, xfr q{ 6r qrq tm t, t Fffiff
qffifq ur+qr {rfu f+}{r +t qrfi srf6S, frrf{ qiE

e{ qr< qtftrd qRr xrq d s* I 5

(b) 'Traditional finasial management was concerned
with raising of funds but not with its. optimum
utilisation.' Do you agree? Comment.

'ctq{rrrd f{dq raicl{ tI{ d erl t tqA pn ss*

9 5407

(c) Raw material will be carried in stock for 4 weeks
and finished goods for 2 weeks

(d) Factory processing will take on an average 3

weeks.

Assume labour and overhead expenses to accrue

evenly throughout the production cycle.

g{krrffir Tlflr:

(i) trilfr d sTrd Hqr6 *t sqn qqfu wgFn t r

(ii) T(rq-6 s qqn6 61 grERr tt d r

(iii) 5-q1 qrcl 4 €qr6 <-* ei+ t rcr qrdr t dr
*qn qrs 2 trkn6 |

(iv) 6r(crr+r trfiqsr t s+€" d-{ sqrt sqt t r

R rmcq qfr + erc sfr{ otqGe u{ qersm su-+u

tt l'r ls

Or ( elcE[r1

Write short notes on the following:

(a) Operating cycle method of estimating working
capital requirements

(b) Economic Order Quantity

(c) Evaluation of credit policy.

FTqfdfua c{ dfkq f?ssfr ldfbq:

(a) or{qrt-d (vi +i elr+qq-6-dr +} effi si cfusre-c
qs EIE 

P. T. o.
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{s1-fiur E{ 15% t r sr€{ erqtsr qted t {rd
+lfqq:

ge-rq sr+rr t rS r' EFrr 3rN s6rd t? ffi
o1fuq r 10

2. A company is planning to purchase a machine. Two
machines X and Y each costing Rs. 2,00,000 are under
consideration. Both have life of 5 years. Depreciation
is provided on straight line method. Expected profit
after taxes from the machines are as follows:

q* +iyfi q{ c{ft-{ sffi *1 *q-{r ffi rfr t r s}

c{fl-i x d{ y, ffi qtcfi z,oo,ooo r" xfo t c{
f€R f*.qr qr rtr t r fri ql *dflfi s s{ t r

qeq-fi{ rfrsi tqr c-qfd rR Errrt;tl t r qtt t qTqr(

c{fr-fr t ffi 6p qt enw t:
Year Machine X (Rs.) Machine Y (Rs.)

I
2

J

4

20,000

40,000

50,000

30,000

20,000

10,000

30,000

40,000

60,000

40,000

You are required to decide which machine should be
preferred using:

(a) Accounting Rate of Return

(b) Payback Period Method.

sTIq-+1 Frufq q,cci t fs qffi qyrt{ + ertq-dr qi

qrq r c-aT dkq' 
P. T. o.

(i) {cflc Srrdg 3p1c1-6

(ii) w trr-drc ardcrd y{ trFd iq{ ErsR {s
(iii) 6OVo * g'rdlq srdcrd qi qrSR {el I 10

8

I

(
i

8Raw Material cost per unit

Direct labour cost per unit

Overheads per unit
Total cost per unit

Profit per unit

Selling Price per unit

Additional information:

(a) Debtors are allowed 8 weeks credit

(b) Suppliers provide 5 weeks credit

I

I

(

5. Compute the working capital requirements from the
following details:

f+qfde( ffi{uil t *,rffi€ {* +t umr+,+'n +i
rrortr *1fqq:

Budgeted Sales: 30,000 units per annum

Rs.

I

(

tl

a

18

2

20

I



5407 4

(a) ercql qr tqr <
p1 ti-+ swls ffrr r ls

or (elrra|
A new investment proposal is under consideration.
Following are the details:-

q6 ;rqT fqi{r tr{ars fdsR+{ i r ss* f*+ror

ffitur t.
Capital Cost : Rs. 4,00,000
Depreciation : Straight Line Method
Life : 5 Years

Thx Rate : 50%
Cost of Capital : lZVo

Expected Earnings Before Depreciation and Taxes
(EBDT):

Yeart2345
EBDT (Rs.) 2,00,0002,00,000 1,60,000 1,60,000 80,000

Would you accept the proposal on the basis of:

(a) Accounting Rate of Return

(b) Net Present Value?

iFII srFr f{q t qril{ rR s{r rGrrq +] ei-s.r< qtt:

(a) EFds-d fu'fi <
G) {Ja {tqH tiq?. rs

1,00,000 $FHfc eiyr t r .m envn sl qrd t fs
q{ * sf,d fr r+irfr q,r ffff, Eilq s,oo,ooo do

tm r trfr +t f€ft & mrq dn-fr envn q;rfr t
f{ qF{q i fr+fl y{ ErcS lozo frrfr I {ffi
{sn-fiq R Dvo I t 40vo, 60vo eftr soz, h f,rq
terrre ergvrd t ,FCq cfsd t cfr +fi qrsn

{!v un +tfuq r 10

Or(frelt[l;
(a) Explain the Modigliani-Miller hypothesis of divi-

dend irrelevance.

arqivr E{rn-n q1 #fin.cqrqi-Frfi qfc*q{r ei
qlrflr{q I 5

(b) The earnings per share ofABC Ltd. is Rs. 10. The
face value of its equity share is Rs. 100. Its rate of
return on investment is 20Vo. Capitalization rate
for its risk class is 157o. Using Walter's dividend
model, find out:

(i) The optimum payout ratio

(ii) The market price per share if the payout
ratio is zero

(iii) The market price at a payout of 602o.

ABC Fofcls d yfd tq{ *qr{ ro ro t r vq+
{kft tq{ 6r siB.d {s 1oo lo t r ft}n q{
qmql 6i 4{ zovo t r sc* nfcq {.f + frq

P. T. O.
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debentures of Rs. 4,00,000. Find out operating
leverage and financial leverage. If company wants
to double its earnings per share, how much
percentage increase in sales is needed?

tp zin-fr e1 srern ffi ro,ooo fqri A I

cf{d-+q dprd R-*1 {s irr 60% t r errd ffi _
1 flr€r €o t r s.ryn * crs q,oo,ooo {o + 10%

igd{=fi € | sFqTeFT (,Itqrq 3{R rffirq drErfq c6.t

4dr{q I srrR 6.qfr ffi} t{{ +t 6qr{ 41 g{-{r
qrfl eftd t, A k*i t ffi rFd{rd +i a-66
+isTrE{-{+-dTt? 10

4. (a) Write a note on Gordon's approach to relevance
of dividend decision.

effif{r f{uFq q1 xr{Frq-* Ti rilt{ * EHq c{

q+MfrFaqr s

(b) ABC Ltd. is currently fuaving 1,fi),000 equity
shares of the face value of Rs. 10 each. It is

expected that company will have year etrd net
profit of Rs. 5,00,m0. Due to recessionary
conditions, the company expects 1096 return on its
investment in future. The equity capitalization
tate is l2Vo. Find out the market price per share

according to Gordon. Model under different
payout ratios of 4OVo, 6OVo and 8O9o.

ABC frtrIs * qrs ro r" cfr tqt * te *
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3. (a) Explain the traditional approach to the capital

structure.

{S {. fi } wqtrrn qfr*q d scgr{q t s

(b) A company has net operating income of Rs.

5,00,000. It has 10% debentures of Rs. 20 lakh.

Cost of equity is 15%. Calculate the average cost

of capital and value of the firm as per net income

approach of capital structure. If the company

raises additional debt of Rs. 10 lakhs at the rate of
10%, what happe$ to the value of the firm?

!r r*rfr +t ga vfi=rm qrc s,oo,ooo ro t I

sq* crq 20 EnGr ro * lo% fs+q{ t I tFssFe

+t qtrd ls% t I tS trqsl * $e qrc EHUI
* qrsR cr sd afr {S uth 1r *t ahm errn

*1 rrurfl q1frq r qf( q,q{ fi% +t < st 10

EtrGr do 6T qFdkfi 6.d rdrfr t, il s,c * qF
c{ FII nqlil vgrlT ? r0

Or(a4n;
(a) "New issue of capital is costlier than the retained

earnings." Do you agree? Explain.

':T{ {fr qr0 Et{I cffi'( *cri t 3Tlsrs cdrft

t," mt qTc wm tz sqgrEq r s

(b) A company has annual sales of 10,000 units. Sale

price is 50 per unit. Variable cost is 60% of sale

price. Fixed cost is Rs. 1 lac. Company has 10%

5
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